| NN H&\’A\\\\\\

\ —" M1 s
Y Y i

I_II_II_I

AS S E M B L Y O F S W ‘ T C H R O D 2" MINIMUM IDENTIFICATION CHARACTER TO BE STAMPED N O T E S X

PLANLY ON TOP OF BAR

17/8" R
/ ‘ 7 1. ALL METAL PARTS IN CONTACT WITH INSULATION SHALL HAVE SHARP EDGE & BURRS OR
/ t OTHER FOREIGN MATTER REMOVED BEFORE ASSEMBLING.
123/32" 1 1/4"/32" MILD STEEL ROLLED BAR DIELECTRIC REQUIREMENT: DIELECTRIC TESTS SHALL BE MADE WITH THE INSULATION DRY.
o ASSEMBLED INSULATED TRACK FITTINGS SHALL WITHSTAND FOR NOT LESS THREE
13/32" 2 1/32"%1/32 SECONDS AN INSULATED TEST OF 1500 VOLTS A.C WITHOUT FLASH OVER OR PUNCTURE
BETWEEN ALL METALLIC PARTS & OTHER METALLIC PARTS INSULATED THEREFROM.
11/4" /\2 HOLES- 1 1/32" DIA 1-9/64" DIA. HOLE 1-5/32" DIA. HOLE7 ALL HOLES SHALL BE DRILLED.

| ITEM 8 ALSO USED AND DETAILED ON VERTICAL INSULATED ROD DRAWING
2 1/2"%1/16" b , O/ 67 NO.GTS-344  A/D.
| ITEM 3 AND 4 ALSO USED AND DETAILED ON NON-INSULATED ROD DRAWING

2 5/8" -
1141/ 30" | NO.GTS-340 A/D.

THE USE OF ACETYLENE TORCH OR OTHER BURNING METHOD FOR THE CUTTING OR
3 1/2'”:1/32" J MAKING OF HOLES IN THE MANUFACTURE OF SWITCH RODS IS ABSOLUTELY PROHIBITED.
ROD BEN D‘NG f-7" 1/8" B-1-5 5/8" C-1-7 1/8" D-1-8 5/8"(11/32) WHEN REFERRING TO SWITCH RODS, DRAWING NUMBER MUST BE STATED AS A B, C OR
B-2'-10" C-2'-11 1/2" D-3'-1" (+1/8) LENGTH | D TO INDICATE SPECIFIC ROD REQUIRED.

D E T A‘ L : Y : A-3'-6 1/2"%1/32"

A-3'-8"%1/8" LENGTH

11/4"£1/32" MILD STEEL ROLLED BAR See DETAL Y

L T De TAIL OF HTEM

,
~ 7 MATERIAL:
) " MILD STEEL SPLICE PLATE BAR STOCK TO CONFORM TO THE LATEST REVISION OF GO TRANSIT TRACK
m YVHS%W?HRRTEHAD%THREADS PER VE™ STEEL WASHER PLATE 4 HOLES. 25 /50" DIA STANDARD OR IN GENERAL WITH LATEST REVISION OF ASTM SPECIFICATION
2 HOLES T-/To™ DiA N\ FOR COMMERCIAL QUALITY HOT ROLLED BAR STEEL A-675 :
1 1/4" AZ HOLES- 1 1/16" DIA 2 HOLES- 11/32" DIA I MINIMUM MAXIMUM
NI || 3 {‘} | e 2 vz e ‘__“C}_-_.. 090 CARBON 0.157 0.257
22 +1/16 ! o | 1..%2.. MANGANESE ~ 0.30/ 0.607
11/8"41/32 5 1 /32,, PHOSPHORUS 0.047
2 1/4”i1/32”_ % % 4 61/64”i1/32” o 6”+ //32%” oo SULPHUR 005/
__6IIi'|/32II__ oo m °_6”i1/16”_‘ /2II_|_'|/ 6II
—9 5/16"+1/32"——

9 112" H1/16"— 5/8 DETAL OF |TEM 4 DE TAIL OF 1TEM 8

-1 5/8"+1/32"

| 1 1 |
-4 1/8"+1/32 | | BILL OF MATERIAL
1-5 1/8"+1/8" |

ITEM DESCRIPTION MARK NO. | STANDARD PLAN
DETAIL OF ITEM 2 .
MNVV‘N\N\N\N‘I 1 |BAR ROD 1 1/4" THICK X 2 1/2" WIDE X 3'-8" LONG 340A - 1

QUANTITY FOR ROD 340

11/4"+1/ 32" MILD STEEL ROLLED BAR BAR ROD 1 1/4" THICK X 2 1/2" WIDE X 2'-10" LONG 5408B - - 1 -
BAR ROD 1 1/4" THICK X 2 1/2" WIDE X 2'-11" LONG 340C - - -
BS. WHITWORTH 6 THREADS PER BAR ROD 1 1/4" THICK X 2 1/2" WIDE X 3'-1" LONG 340D - METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mm

—_—_ ] 0 | =]
—_ | —_ =

INCH - 56 THREADS 2 |BAR ROD 1 1/4" THICK X 2 1/2" WIDE X T-5" LONG - i 1 1 1 118/07/27| ADDED IMPERIAL TO METRIC CONVERSION NOTE
3 |BAR ROD 1 1/4" THICK X 2 1/2" WIDE X 2'-4" LONG 1 ] N — —— y
1-9/64" DIA. HOLF 2 SLOTS- 1-1/16" X 2 9/16" 4 |FLAT WASHER 1/8" THICK X 2 1/4" WIDE X 6" LONG - - 1 1 ‘ evision Y 7Pprove
| T 5 |1 DIA -8 UNC SQ.HD.BOLT X 4 3/4" LONG C/W SQNUT ] CISTIBOS2% 1 1 g | 2 | Standard SWI?L(J)LHATR%DDS
ny T — g — N |
z V2|—1”6 ‘ O % % IH 6 |SPRING WASHER FOR 1' DIA BOLT : GTS-1301 7 2 | 2 | 2 100. 115 1328, ARAA RAL
300 7 |1/4" COTTER PIN X 2" LONG - - 2 2 2 | 2 y 11V A
| +
I ey 8 |SPLICE PLATE 1/2" THICK X 2 1/2" WIDE X 9 1/2" LONG - - 2 ? 2 | 2
9 |FIBRE BUSHING 7/64" THICK X 1" 0.0. X 1 15/32" LONG | 353F GTS-353F 4 t | 4 | 4 AN VTcH T eTets Approved o Eng.nzg%jgméﬁfet
9 5/16"41/16"—— 10 |FIBRE BUSHING 1/8" THICK X 2 3/4" WIDE X 10" LONG 353A GTS-353A 2 2 2 2
M 9/16"%1/32" 4 [3/4" DIA -10 UNC SQ.HD.BOLT X 4 1/4" LONG C/W - CTS-1304/4 |, c |4 | 4 . ‘
s QAT L 4 =2>¢&=METROLINX
12 [SPRING WASHER FOR 3/4" DIA BOLT - GTS-1301 4 1 | 4
DETAL OF ITEM 4 13 [3/16" COTTER PIN X 1 1/4" LONG : - 4 1 L | 4 - s
%% DEC 15, 2017 .. GTS—0341 -

REFERENCE: TS—341 A/D Sheet 1 OF 1



AutoCAD SHX Text
DETAIL OF ITEM 4

AutoCAD SHX Text
 1/8'' STEEL WASHER PLATE

AutoCAD SHX Text
 2 HOLES 1-1/16'' DIA

AutoCAD SHX Text
 1/2'' MILD STEEL SPLICE PLATE

AutoCAD SHX Text
 4 HOLES 25/32'' DIA

AutoCAD SHX Text
DETAIL OF ITEM 8

AutoCAD SHX Text
 2 HOLES- 1 1/32'' DIA

AutoCAD SHX Text
1-9/64'' DIA. HOLE

AutoCAD SHX Text
1-5/32'' DIA. HOLE

AutoCAD SHX Text
  '' MINIMUM IDENTIFICATION CHARACTER TO BE STAMPED  12'' MINIMUM IDENTIFICATION CHARACTER TO BE STAMPED  PLAINLY ON TOP OF BAR

AutoCAD SHX Text
MILD STEEL ROLLED BAR

AutoCAD SHX Text
DETAIL OF ITEM 1

AutoCAD SHX Text
DETAIL OF ITEM 3

AutoCAD SHX Text
MILD STEEL ROLLED BAR

AutoCAD SHX Text
1-9/64'' DIA. HOLE

AutoCAD SHX Text
B.S.	WHITWORTH 6 THREADS PER WHITWORTH 6 THREADS PER INCH - 56 THREADS

AutoCAD SHX Text
 2 SLOTS- 1-1/16'' X 2 9/16''

AutoCAD SHX Text
ROD BENDING  DETAIL ''Y''

AutoCAD SHX Text
 1 7/8'' R

AutoCAD SHX Text
 2 HOLES- 1 1/16'' DIA

AutoCAD SHX Text
 2 HOLES- 1 1/32'' DIA

AutoCAD SHX Text
B.S.	WHITWORTH 6 THREADS PER WHITWORTH 6 THREADS PER INCH - 56 THREADS

AutoCAD SHX Text
BEND

AutoCAD SHX Text
BEND

AutoCAD SHX Text
DETAIL OF ITEM 2

AutoCAD SHX Text
MILD STEEL ROLLED BAR

AutoCAD SHX Text
SEE DETAIL ''Y''

AutoCAD SHX Text
MATERIAL:

AutoCAD SHX Text
BAR STOCK TO CONFORM TO THE LATEST REVISION OF GO TRANSIT TRACK STANDARD OR IN GENERAL WITH LATEST REVISION OF ASTM SPECIFICATION  FOR COMMERCIAL QUALITY HOT ROLLED BAR STEEL A-675 :	                    	MINIMUM				MAXIMUM MINIMUM				MAXIMUM MAXIMUM CARBON				0.15%					0.25%  0.15%					0.25%  0.25%  MANGANESE			0.30% 				0.60% 0.30% 				0.60% 0.60% PHOSPHORUS									0.04% 0.04% SULPHUR 										0.05%0.05%

AutoCAD SHX Text
ASSEMBLY OF SWITCH ROD

AutoCAD SHX Text
1.	ALL METAL PARTS IN CONTACT WITH INSULATION SHALL HAVE SHARP EDGE & BURRS OR ALL METAL PARTS IN CONTACT WITH INSULATION SHALL HAVE SHARP EDGE & BURRS OR OTHER FOREIGN MATTER REMOVED BEFORE ASSEMBLING.     DIELECTRIC REQUIREMENT: DIELECTRIC TESTS SHALL BE MADE WITH THE INSULATION DRY.           ASSEMBLED INSULATED TRACK FITTINGS SHALL WITHSTAND FOR NOT LESS THREE      SECONDS AN INSULATED TEST OF 1500 VOLTS A.C WITHOUT FLASH OVER OR PUNCTURE     BETWEEN ALL METALLIC PARTS & OTHER METALLIC PARTS INSULATED THEREFROM.       ALL HOLES SHALL BE DRILLED.     ITEM 8 ALSO USED AND DETAILED ON VERTICAL INSULATED ROD DRAWING      NO.GTS-344   A/D.     ITEM 3 AND 4 ALSO USED AND DETAILED ON NON-INSULATED ROD DRAWING      NO.GTS-340 A/D.     THE USE OF ACETYLENE TORCH OR OTHER BURNING METHOD FOR THE CUTTING OR      MAKING OF HOLES IN THE MANUFACTURE OF SWITCH RODS IS ABSOLUTELY PROHIBITED.     WHEN REFERRING TO SWITCH RODS, DRAWING NUMBER MUST BE STATED AS A, B, C OR     D TO INDICATE SPECIFIC ROD REQUIRED.

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
BILL OF MATERIAL

AutoCAD SHX Text
ITEM NO.

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
MARK NO.

AutoCAD SHX Text
STANDARD PLAN

AutoCAD SHX Text
QUANTITY FOR ROD 340

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
1

AutoCAD SHX Text
BAR ROD 1 1/4'' THICK X 2 1/2'' WIDE X 3'-8'' LONG

AutoCAD SHX Text
340A

AutoCAD SHX Text
-

AutoCAD SHX Text
1

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
BAR ROD 1 1/4'' THICK X 2 1/2'' WIDE X 2'-10'' LONG

AutoCAD SHX Text
340B

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
1

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
BAR ROD 1 1/4'' THICK X 2 1/2'' WIDE X 2'-11'' LONG

AutoCAD SHX Text
340C

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
1

AutoCAD SHX Text
-

AutoCAD SHX Text
BAR ROD 1 1/4'' THICK X 2 1/2'' WIDE X 3'-1'' LONG

AutoCAD SHX Text
340D

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
BAR ROD 1 1/4'' THICK X 2 1/2'' WIDE X 1'-5'' LONG

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
BAR ROD 1 1/4'' THICK X 2 1/2'' WIDE X 2'-4'' LONG

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
FLAT WASHER 1/8'' THICK X 2 1/4'' WIDE X 6'' LONG

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
5

AutoCAD SHX Text
1'' DIA -8 UNC SQ.HD.BOLT X 4 3/4'' LONG C/W SQ.NUT

AutoCAD SHX Text
-

AutoCAD SHX Text
GTS-1305/24

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
6

AutoCAD SHX Text
SPRING WASHER FOR 1'' DIA BOLT

AutoCAD SHX Text
-

AutoCAD SHX Text
GTS-1301

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
7

AutoCAD SHX Text
1/4'' COTTER PIN X 2'' LONG 

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
8

AutoCAD SHX Text
SPLICE PLATE 1/2'' THICK X 2 1/2'' WIDE X 9 1/2'' LONG

AutoCAD SHX Text
-

AutoCAD SHX Text
-

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
9

AutoCAD SHX Text
FIBRE BUSHING 7/64'' THICK X 1'' O.D. X 1 15/32'' LONG

AutoCAD SHX Text
353F

AutoCAD SHX Text
GTS-353F

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
10

AutoCAD SHX Text
FIBRE BUSHING 1/8'' THICK X 2 3/4'' WIDE X 10'' LONG

AutoCAD SHX Text
353A

AutoCAD SHX Text
GTS-353A

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
2

AutoCAD SHX Text
11

AutoCAD SHX Text
3/4'' DIA -10 UNC SQ.HD.BOLT X 4 1/4'' LONG C/W SQ.NUT

AutoCAD SHX Text
-

AutoCAD SHX Text
GTS-1304/4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
12

AutoCAD SHX Text
SPRING WASHER FOR 3/4'' DIA BOLT

AutoCAD SHX Text
GTS-1301

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
13

AutoCAD SHX Text
3/16'' COTTER PIN X 1 1/4'' LONG 

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
NOTE: CONVERSION FACTOR: 1 INCH=25.4mm, 1 FOOT=304.8mm

AutoCAD SHX Text
Date 

AutoCAD SHX Text
Rev

AutoCAD SHX Text
Plan Number 

AutoCAD SHX Text
REFERENCE: 

AutoCAD SHX Text
Sheet 

AutoCAD SHX Text
Drawn 

AutoCAD SHX Text
Approved 

AutoCAD SHX Text
Checked

AutoCAD SHX Text
No. 

AutoCAD SHX Text
Revision

AutoCAD SHX Text
Date 

AutoCAD SHX Text
By Approved

AutoCAD SHX Text
VP Engineering & Asset        Management

AutoCAD SHX Text
Standard 

AutoCAD SHX Text
100, 115, 132LB. A.R.A.A. RAIL

AutoCAD SHX Text
SWITCH RODS

AutoCAD SHX Text
INSULATED

AutoCAD SHX Text
GGS

AutoCAD SHX Text
MG

AutoCAD SHX Text
TS-341 A/D

AutoCAD SHX Text
1 OF 1

AutoCAD SHX Text
DEC 15, 2017

AutoCAD SHX Text
GTS-0341

AutoCAD SHX Text
1

AutoCAD SHX Text
1

AutoCAD SHX Text
18/07/27

AutoCAD SHX Text
ADDED IMPERIAL TO METRIC CONVERSION NOTE

AutoCAD SHX Text
METRIC CONVERSION: 1 inch=25.4mm, 1 foot=304.8mm


	Sheets and Views
	Model


